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3t (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option. =
46! Choose the correct option to fill in 50; Antonym of 'Cool' is :
the blank : [1] Cold [2] Colder
Amartya Sen Gupta is ......... N.R. L, [3] Hot [4] Warmer
1] a 2] an
] 2] 5f. Fill in the blanks with the correct
[3] the [4] x prepositions :
The boy fell ......... the well ....oveee
41.¢ She sang a 'sweet' song. 10 O'clock.
'sweet' here is : [1] in, on [2] into, at
[1] Adverb [2] Adjective [3] into, on [4] in, at
131 Nown [*]eEronoun 52. The superlative degree of 'Far'is :
48. One word for 'A child whose parents [1] Farther
are dead' is : [2] Farthest
[1] Sibling  [2] Orphan [3] Most far
. [4] Most farther
[3] Bigot [4] Bastard '
3 ) 53. Match the following :
49. Choose the grammatically correct
sentence : (a) Ass () quack
[1] John has been living in Egypt for (b) Duck (ii) hum
1942, (c) Fly (iii)bray
[2] John had lived in Egypt for (d) Bee (iv) buzz.
o [1] a-i, b-ii, c-iii, d-iv
1 has been living in Egypt e R ROk,
B3] J,Ohn > 5 &P [2] a-iii, b-i, c-ii, d-iv
since 1942,
: . _ 3] a-iii, b-i, c-iv, d-ii
[4] John have lived in Egypt since [
1942. : [4] a-iii, b-ii, C-iY, d-i
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b d i s hoose the part ol the seatence th,
i 54.* Uarish himgelf wrote the poen. - §7,® Choose the part ol thy
Py | is incorrect
by The underlined words are
8 Keatsis aquict  good poct
§ i 1
| [1] Noun, Pronoun (A) (B) (€)
[2] Noun, Adjective among the romantic pocts
; (D)
¢
: ; [3] Noun, Adverb ¥y
I ¢ 21 B
iy 1A (2]
- [4] Noun, Noun | '
i )
By 3] C 41 D
B 55.* Till in the blanks with the correct
] forms of the Verb 58% Choosc the cerrect spelling of the
j , given word :
L ] What ..... . YOU .iiiviree, With
! this knife yesterday ? [1] bungalowe
{ } [1] do, did |2] bangalow
i
t [2] do, do [3] bangelow
’ L [3] did, do ‘. ‘ [4] bungalow
) ‘ [4] did, did 59,4 Synonym of ‘hatc'is :
£ ¢ i
‘ ? g . )
i b 56.° The milk has turned sour. (1] docile [2] creep
E ,‘ The underlined word is :
£l [3] anger [4] dislike
ik [1] Noun
; } : 60. The young one of a bear is :
i [2] Pronoun
5 o [1] calf 2] cub
‘ [3] Adjective 2]
13] fawn 4] foal
(4] Adverb 4] fo
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QM AT (GENERAL STUDIES) DE

WO Ggdl, b SITEHET a1 9P 919 @d SR (QUANTITATIVE APTITU
REASONING ABILITY AND G.K. & AWARENESS)

BT : R gt & Gat 83 3 oy it o R 5

Direction : Answer the following questions by selecting the most appropriate option. -~ ___—

own increases

6l. U FxQ H THEEA 5% dfiE &7 @ 61. - The population of a t
et B, R +@ # TH SHEEn at the rate of 5% annually- If. the
4410 &, o 2 af gBd SEE R present population is 4410, what Was
o ? it 2 years ago ?
[1] 3600 [2] 3800 [1] 3600 [2] 3800
[3] 4000 [4] 4200 [3] 4000 [4] 4200

Find the next term of the following
letter series :

62.” Frffad oot & 1 oFEn W@ AT 62.
T -

KTE, SBM, AJU, IRC, ? KTE, SBM, AJU, IRC, ?

[1] QZL [1] QZL
[2] QZM [2] QZM
[3] QZN [3] QZN
[4] QZK [4] QZK
63. <1 &g IOt & ST U§ G ‘& Find the next term of the following
Fifoma : number series :
4, 10, 23, 50, 105, ? 4, 10, 23, 50, 105, 2

[1] 215 [1] 215
[2] 216 [2] 216
[3] 218 [3] 218
[4] 220 AL [4] 220
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(1] P
[3] S

2] Q
(4] T

85. % T F URt ok IR Q@ 3

36 @ A g e T AR Q)
FA T F Wy gl 6 Wex A, A
T T H A Y

[1] 2500 =t wfex
[2] 2601 Tt dex
[3] 2809 Tt Hrex
[4] 2916 Tt HiexX

66.° Rt V2" =64 B, A nH AT L

'-

[1] 8 (2] 10

[3] 6 4] 12

67! ot w fRww F W F

'CERTAIN' & 'XVIGZRM' # el
'SEQUENCE' @& 'HVIFVMXV' q
Rpar ol §, @ 'MUNDANE' @
QA FE A  fer@r e -

[1] NFMWZMX

[2] NFMXZMV

[3] NFMWZMV

(4] NFMWZXM
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64.

If P is taller than Q, R is shorter than
P. S is taller than T but shorter than
Q. then who among them is the
tallest ?
[1] P
[3] S

2] Q
(4] T
In order to fence a square fixed 36 poles
were used. I the distance between two

consecutive poles is 6 meters, then the

area of the squarc is :
[1] 2500 sq. m
[2] 2601 sq. m
[3] 2809 sq. m
[4] 2916 sq. m

66. If\/—Z—"-=64,then the value of nis :

[1] 8 (2] 10

[3] 6 (4] 12

If in a certain Code Language,
'CERTAIN' is coded as 'XVIGZRM'
'SEQUENCE' is coded as
'HVIFVMXV', then 'MUNDANE' is
coded as :

[1] NFMWZMX

[2] NFMXZMV

[3] NFMWZMV

[4] NFMWZXM

and
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6. Frwr gt Ah W srEr w e

Fifo

AZ. GT, MN, SH, ?
[1] YC [2] 2C
(3] 7B [4] YB

M T8 TET uF AT ool & s

W ed Bg o # gl omm
ARG THET F FF IO o

FIeq

% 6241 = 9, @@T 3732 = 20 &, @
4523 gaT 2 :

[1] 18

[2] 23

[3] 21

[4] 26

70.° 3R M TF T g §, O 9uE STl

T @ 9T ©
[1] M+4

[2] M+2JM +1
[3] M+2JM -1
[4] M?+2M

71 AT BIEE, Cam D ard § A

FGADF AEE A B CH
JFR Haad & 7

[1] foar [2] =T
[3] 7§ (4] amT
c-D A

68,

(p1

Find the next term of the fon?wing
letter scries : :
AZ.GT, MN, SH. ?

rARPAE

(4] YB

[1] YC
(3] 7B

. . - the
Some cquations arc solved 0P
; . the
basis of a certain system. OR
‘e g er
samc basis, find the correct ansW

for the unsolved problem :

If 6241 = 9, and 3732 = 20. then
4523 is equal to : !
[1] 18

[2] 23

[3] 21

[4] 26

If M is a square number, then the
next immediate square number is :
[1] M+4

[2] M+2JM +1

[3] M+2JM -1

[4] M?+2M

71. Aand B are brothers, C and D are

sisters, A's son is D's brother. How is
B related to C ?

[2] Uncle

[4] Grandfather

[1] Father
[3] Brother
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Amranpe  the piven words in oy
meaningiul sequenee

i, Phrase

il,  Leuer

i, Word

iv, Sentenee

L
12]
RIR
RY

TRET IR
RIS

i, 1, i, 1Y

The fctors of 6 - x - 23" are
1] (v+2)(QAx=3)

12] (x+2)(3-2X)

13] (x=2)(2x~3)

14 (=2 (3=2)

It \/H‘J[l :l“:ﬁ) lt_\-i , then
the value of' x 482

1 121 3

1315 47

\/b*ﬁ-\[ +”o+ ..... s equal to

1] 3

121 4

131 3

4] 6
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[1] 8.75 571
[2] 9.00 31
[3] 10.00 9]
[4] 11.25 59
i 12 agelt 1 Repa g, 15 axgelt

S w1 T B IR D, & @GR

?:
[1] 20% [2] 25%

[3] 30% [4] 36%

80 9
gy 30F30% _oh & & v @

X
qH 1 BRm .7
3 3
[1] E [2] 1%
[3] 1 [4] 2
79. TIA I :

2+[242+{2+2+(2+2+3)}]
T 8
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[1] 5 (2] 15
11 19
1 41 2
[3] 5 [4] T
%x[aa
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What will be the difference betwee”

compound and simple intercst W

i . . €
sum of Rs. 4,000 for 2 years 8! the
ratc of 5% per annum ?

[1] Rs. 8.75
(2] Rs. 9.00
[3] Rs. 10.00

[4] Rs. 11.25

If the sclling price of 12 articles is

equal to the cost price of 15

then the profit percentage is

articles.-

[1] 20% (2] 25%

3] 30% (4] 36%

If EICK R 24, then what “wéuld
x

be the value of 'x' ?

.3 3
1 % 2] 7 ]
[3] 1 [4] 2
Simplify :

2+[2+2+{2+2+(2+2+3)}] is

equal to :
13 17
Ll &= ) ==
35 SUET:
11 19
S == 4] =
_[ ] 15 4 15

S PLT.O;
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[1]

[2] o

(3] o

|4] SR
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1] STER0T Sroremen
[2] wa fife
(3] ®o IMIHT
[4] Wi awa
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(1] Faa F47 (i) T 2l

(2] @aa F4 (i) T B

(3] 7 () 7T E (i) T
(4] (i) 3 (i) At T &
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80,

{/ind the odd on¢ %
[1] Article

(2] Story

(3] Poem

(4] Novel

Who 18 the  State  Election

Commissioner of Haryana ?
(1] Anurag Agrawal

[2] Dhanpat Singh

[3] V. Umashankar

[4] Nitin Yadav

Read the following statements about
Haryana Public Scrvice Commission :

(i) ‘The Commission consists of

one Chairman and maximum
eight members.
(ii) The Chairman and  other

members arc appointed by the
Governor of Haryana.

Choose the correct code :

[1] Only statement (i) is true.

[2] Only statement (ii) is true.
[3] Neither (i) nor (11) is true.

[4] Both (i) and (1) are true.
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3, Who s the Chief Informatio”
Commissioner of Haryana 7

[1] Shri Narendra Singh Yadav

[2] Shri Chandra Prakash

&L’;ﬁ?rvn%gmmangm i

(1] = w¥x fiz o
[2] 4 =% vy

(3] =t fas gy (3] Shri Vijai Vardhan
[4] #h waftie R [4] Shri Jai Singh Bishnoi
B BT A W oA W fmm | a4 "Momi Hills” the highest ranges Of
pircifitlcs ol Haryana arc situated in :
(1] degm & (1] Panchkula
2] s=ren & [2] Ambala
(3] TR & [3] Yamunanagar
[4] =z & [4] Jind
85, 6 WEE fard MR @ | 5. When  Gurugram  Metropolitan
A 53 3 R 4 7 Development  Authority ~ Was
established ?
(1] @2015%  [2) af2017% [1] Year2015 [2] Year2017
(3] q2016% [4] a¥2018 & [3] Year2016 [4] Year 2018
86 %= 9T TR M Rgd § 86. Central Sheep Breeding Farm is
situated at : '
[1] I & [2] R & [1] Ambala  [2] Hisar
(B] T & [4] 9 & [3] Panipat ~ [4] Karnal
8L’ 1857 @ %, foral 7Y Fg g 81. 'I‘ﬁc hero of 1857, who died in

53( : Kabul :
[1] o &g [1] Gopal Das
[2] 19 A [2] Rao Tula Ram
3] aZdm 3] Sadruddin
(4] A [4] Hukam Chand
Level-1/701 - P.T.0,



